SERIES (X

Light alloy end caps painted gray.
Clean profile aluminium body gauged inside and outside.

@ Available with ATEX certification

SERIES (D

Light alloy end caps painted gray.
Clean profile aluminium body gauged inside and outside.
Tie rods in zinc plated steel.

@ Available with ATEX certification

TECHNICAL DATA

Max. pressure: 10 bar
Power fluid: filtered

air with or without
lubrication.

Temperuiure range :

-20°Cto +70°C.

AVAILABLE STANDARD STROKES

Bore size
mm

32
40
50
63
80
100
125
160
200
250
320

25 50 75

Strokes fill 4000 mm by request

Pnoumatik

VDMA 24562 150 6431 @

Bore size | mm 32-40-50-63-80-100-125

Bore size | mm 160-200-250-320

ar Cylinders’ theoretic force.

g
4

\\él;u \\
A
P

PRESSIONE
w &~ 0o ©

[}




MANUFACTURING VARIANTS

Aisi 304 stainless steel piston rod (X5 CrNi 1810)
Piston rod - tie rods - nuts in Aisi 304 stainless steel - Epox painting
With seals for high temperatures (max 180°)

Tandem thrust cylinders
Opposed tandem cylinders

PRODUCT FEATURES

nesi
'Pneumatik

End caps in light Nitrile rubber
anodized alloy, slide and polyurethane
bush for piston rod seals.

in acetalic resins

plated steel.

ORDER CODE FOR CYLINDERS

Standard cylinder 1S0-VDMA

Cushion regulation
screw with triangular
mill and self
adjusting seal.

(X/CDMP050 0160

T

Magnetic cylinder

A

Double ended piston rod

Cylinder bore size

Stroke

ORDER CODE FOR FIXINGS
(D2801050

For cylinders ISO-VDMAT

Female pivot in light alloy

Cylinder bore size

ORDER CODE FOR SEALS KIT

Series and hore size of cyIinderT

Standard version

Piston rod in steel
(45, grounded and
hard chromium
plated.

(D-40SGM

Magnetic version

56



B 27

57

'‘Pneumatik
4 N\
L + corsa E D'_
+ stroke G E
s v
———
P T SWi1
[ !
i'ﬂlgm 88 ' I
| i—
o
e
K| - Sw2 Standard
- tanaar
sl
(. J
4 N\
D E + corsa L + corsa E_ D
- - + stroke + stroke
G F
v Swi
7
I
|/
_—_ | —
- = 7 T i
L <¥ O
[@I‘ Y @ AR il = 81 Q
b | r— S i L
o L LT |
", ]
c |ut R| ~ AN | |
| DLI o "SWi Double ended
- i piston rod
G J
Bore size A B C D E F G H I K L M N P R s T
] f7 el
1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1
32 12 M10x1.25 30 22 26 16 33 4 M6 6 94 +0,4 47 325405 M6 G1/8 16
40 16 M12x125 35 24 30 20 335 4 M6 65 105+0,7 52 38405 M6 G1/4 16
50 20 M16x15 40 32 37 25 34 4 M8 8 106 0,7 65 46506 M8 G1/4 16
63 20 M16x15 45 32 37 25 38 4 M8 8 121 40,8 75 565+07 M8 G3/8 16
80 25 M20x15 45 40 46 30 415 4 M10 10 128 +0,8 95 72407 M10 G3/8 16
100 25 M20x15 55 40 51 35 415 4  MI10 10 138 +1 115 89407 M10 G1/2 16
125 32 M27x2 60 54 65 40 45 5 M12 13 160 +1 140 110+1,1 M12 G1/2 20
160 40  M36x2 65 72 80 50 475 8 M1l6 16 180+1,1 180 140+1,1 M16 G3/4 21
200 40  M36x2 75 72 95 65 475 8 M16 16 180+1,6 220 175+1,1 M16 G3/4 21
250 50 M42x2 90 84 105 75 55 8 M2 20 200+1,6 270 220+1,5 M20 G1 30
320 63 M48x2 110 9 120 90 57 10 M24 24 220+1,6 345 27015 M24 Gl 30



B

'Pnoumatik
4 )
L + corsa - E ____D_
+ stroke
— M - H_, G - —d—G—p—-—-—
ON U L1 s Vv
-9 —f ————
- J
e I
D E + corsa L + corsa __E D
+ stroke + stroke
F G G
[ pr |
R
Double ended
piston rod
- J
u v w1 D1 L1 L2 L3 SW1  SW2 S1 Dampening Pulling Pushing Weight of Additional weight
length piston area piston area cylinder every 100 mm
stroke 25 mm of stroke
mm cm? cm? kg kg
1 1 1 1 1 1 1

14 4 = 15 11 4,5 5 10 17 5 18 6,9 8 0,6 0,23
15 4 - 19 10 7 6 13 19 6 23 10,6 12,5 0,9 0,32
15 4 = 19 10 7 6 16 24 8 27 16,5 19,5 14 0,47
20 4 - 23 8 12,5 9,5 16 24 8 33 28 31 1,8 0,52
20 4 - 23 8 13,5 9,5 21 30 10 33 45,3 50 32 0,80
25 4 - 27 6 17 12 21 30 10 33 73,6 785 39 0,90
30 5 - 27 3 17 12 27 41 13,5 33 114,6 123 58 1,4
27,5 50 170 33 4,5 20 15 36 55 18 37 188,4 201 11,2 1.8
275 25 210 33 4,5 20 15 36 55 18 37 3014 314 15,3 2,2
31 25 262 40 - 37 - 46 65 21 42 471 491 25 39
31 17 336 40 - 37 - 55 75 24 54 773 804,2 46 6,1

58



SPARE PARTS 25,%7(’

~— Series (X - (D N
Bore size Position Quantity Code Description
from 32 to 100 mm
1 1 SG Seals
2 1 ST Piston rod
3 1 TA Front end cap
4 1 TP Rear end cap
5 1 (@} Body
- = 6 2 oG Ogive
Ring nut or
. 7 1 GD
- Series (X - (D ~N screw nut
Bore size
125-160-200-250-320 8 2 bC Decelerator
9 1 PT Piston
10 4 TR Tie rod
11 4 VT Screw
. J
ORDERING CODE FOR COMPONENTS
Cylinder type (CX-CD) Bore size

Component code




B

'Pnoumatik
TYPE2801  Female pivot in light alloy. . P T EH .
TYPE2901  Female pivot in steel (for bore sizes 32-200). Bore size Fixing screw
02 H9 H14 h14
- mm UNI 5931
32 142 13 22 10 26 45 10 45 M6x18
40 160 16 25 12 28 52 12 52 M6xI8
D 50 170 16 27 12 32 60 12 65 M8x25
Mo jm CEG 63 190 21 32 16 40 70 16 75 M8x25
iv(-« ' 80 210 22 36 16 50 90 16 95 M10x30
. @@ 100 230 27 41 20 60 110 20 115 M10x30
- = = 125 275 30 50 25 70 130 25 140 M12x35
- A coren _ oM 160 315 35 55 30 90 170 30 180 M16x30
+ stroke
2000 335 35 60 30 90 170 30 220 M16x30
250 375 45 70 40 110 200 40 270 M20x30
320 420 50 80 45 120 220 45 350 M24x40
_ J
TYPE2802  Male pivot in light alloy.
S ) A B C D E H .
TYPE2902  Male pivot in steel (for bore sizes 32-200). Bore size Fixing screw
02 H9
- mm UNI 5931
32 142 13 22 10 26 10 45 M6x18
40 160 16 25 12 28 12 52 Méxi8
50 170 16 27 12 32 5, 12 65 MB8x25
- . 06
" 5 O 63 190 21 32 16 40 16 75 MB8x25
: E 80 210 22 36 16 50 16 95 M10x30
, T 2 ® 100 230 27 41 20 60 20 115 M10x30
P =Fu 125 275 30 50 25 70 25 140 M12x35
C M
A corea _ 160 315 35 55 30 90 30 180 M16x30
+ stroke
200 335 35 60 30 90 ?g 30 220 M16x30
250 375 45 70 40 110 40 270 M20x30
320 420 50 80 45 120 45 350 M24x40
N J
T T S T B T
19 ang es |oin In stee or bore sizes - . O:Te]r:ZE Js15 Js15 Js 14 Js 14
4 M
32 142 26 32 21 18 31 51 38 65 8
40 160 28 36 24 22 35 54 41 65 10
b L 50 170 32 45 33 30 45 65 50 9 12
63 190 40 50 37 35 50 67 52 9 12
80 210 50 63 47 40 60 8 66 11 14
100 230 60 71 55 5 70 96 76 11 15
R 125 275 70 90 70 60 90 124 94 14 20
R Asoosa - - s _ 160 315 90 115 97 88 126 156 118 14 25
200 335 90 135 105 90 130 162 122 18 30
250 375 110 165 128 110 160 200 150 22 35
L 320 420 120 200 150 122 186 234 170 26 40 )

Fasteners are supplied complete with screws.

60



61

5

'Pneumatik
; A C D1 E1 F1 H1 M i
Bore size Fixing screw
TYPE2904 Fork pivot in steel with positioning pin. mm +02 F7 H14 d12 max UNIgS931
4
32 142 22 10 14 34 11 45 MéxI8
=Dt -~ 40 160 25 12 16 40 13 55 MexI8
L B 50 170 27 16 21 45 18 65 M8x20
I
Q] 82 63 190 32 16 21 51 18 75 MB8x20
c F1 80 210 36 20 25 65 22 95 M 10x25
- A +oosa - - M 100 230 41 20 25 75 22 115 M10x25
12 27 7 7 25 140 MI12
\_ 5 5 50 30 3 9 5 0 x35 )
ivot i i i Bore size A B1 C D1 E1 H2 M Fixing screw
T/YPE?‘)OS Male pivot in steel with ball joint DIN 648 K. mm PN E R — UNI 5831
32 142 12 22 10 14 15 45  M6x18
% 40 160 15 25 12 16 18 52 M 6x18
I!C:I;'"\ ‘1
— i 50 170 17 27 16 21 20 65 M8x20
. %
63 190 20 32 16 21 23 75 M8x20
- A+ corsa 80 210 20 36 20 25 27 95 M10x25
+ stroke
100 230 25 41 20 25 30 115 M10x25
_ J
. N . Soeve A EIN P Q R S T U V
TYPE2906 Right angles pivot with ball joint DIN 648 K. mm R o
4 M
32 142 14 32 21 18 31 51 38 65 8
P E1
- 40 160 16 36 24 22 35 54 41 65 10
L - 50 170 21 45 33 30 45 65 50 85 12
' T -
z ¢ 63 190 21 50 37 35 50 67 52 85 12
) >
A +corsa . b 80 210 25 63 47 40 60 86 66 105 14
+ stroke T
- s - 100 230 25 71 55 50 70 96 76 10,5 15
125 275 37 90 70 60 90 124 94 13,5 20
_ J
TYPEIKK End play and radial adjustment joint. Rk A B C ST SW1 Sw2 Sw3 swa
4 M
W W2
Sws S 32 M10x1,25 71 20 5 12 17 19 30
. 40 M 12x1,25 75 24 6 12 19 19 30
m'.
_l':i 50 M16x1,5 103 32 8 20 24 30 42
L __Jl _Y
i 63 M16x1,5 103 32 8 20 24 30 42
80 M20x1,5 119 40 10 20 30 30 42
Max radial 100 M20x1,5 119 40 10 20 30 30 42
\_ clearance 2 mm. )




5

neumaﬂk
TYPE2907 Front or rear flange in zinc-plated steel. Boresize Al B2 C1 D2 E2 F2 G M Fiing screw
mm Js 14 Js14 Js14 H13 UNI 5931
[ 32 130 10 80 64 32 7 16 45 M6x18
40 145 10 90 72 36 9 20 52 M6xi8
~= 50 155 12 110 90 45 9 25 65 M8x20
B . l'_: 63 170 12 120 100 50 9 25 75 M8x20
| & : : T 80 190 16 150 126 63 12 30 95 M10x20
< - \C: | R 100 205 16 170 150 75 14 35 115 M10x20
' :_: 125 245 20 205 180 90 16 45 140 M12x30
-~ 2 B2_ .6 -F 160 280 20 260 230 115 18 60 180 M16x30
- gptice - - "o 200 300 25 310 270 135 22 70 220 M16x30
250 330 25 390 330 165 26 80 270 M20x30
320 370 30 460 400 200 33 90 350 M24x40
N J
TYPE2908 Foot mounting in zinc-plated steel. Boresipe A2 B3 C2 B2 G M N VI g cen
mm +0,2 Js14 H13 Js15 UNI 5931
[ 32 144 24 35 32 7 45 32 35 M6xI8
40 163 28 36 36 9 52 36 35 M6xI8
om 50 175 32 45 45 9 65 45 35 MB8x20
-. 63 190 32 45 50 9 75 50 45 MB8x20
. (,)? 80 215 41 55 63 12 95 63 5 MIOX25
‘d L 100 230 41 56 75 14 115 71 5 MI10x25
- 125 270 45 68 90 16 140 90 9 MI12x35
s A2 +osa 160 320 60 80 115 18 180 115 12 M16x30
200 345 70 85 135 22 220 135 12 M16x30
250 380 75 100 165 26 270 165 20  M20x40
320 425 85 120 200 35 350 200 23  M24x45
N J
TYPE2909 Intermediate pivot in cast iron or zinc-plated steel. Bore size A3 B4 a D3 E3 X X
mm h14 h14 e9 min.  max.
e M\
32 50 12 57 12 15 67 79
40 63 16 59 16 20 74 91
= 50 75 16 71 16 20 81 99
i 63 90 20 8 20 25 8 107
! 3 80 110 20 106 20 25 100 120
e g ) 100 132 25 128 25 30 108 132
Xmin LU 125 160 25 155 25 32 126 164
Xmax + corsa
tooe ™ 160 200 32 190 32 40 148 193
200 250 32 240 32 40 208 163
250 320 40 300 40 50 185 225
\X = dimension to be specified on order. 320 400 50 380 50 60 207 253 )

62



5

'‘Pneumatik
TYPESEC Pin for pivot type 2801-2901.
In ground steel. e Eg EL L
mm
/ )
32 10 46 52
40 12 53 59
50 12 61 67
EL
- - 63 16 71 77
1 o T, 80 16 91 97
N .
r L . 100 20 111 118
[ ]
_ 125 25 132 138
- L . DIN471 160 30 172 180
200 30 172 180
250 40 202 210
320 45 223 235
_ J
TYPEIFF  Female rod clevis in zinc-plated steel. Sore e A 5 e 9 B E @ 1 1
mm
/ )
32 MI0x1,25 10 20 20 10 40 52 3 23
ZHoov 40  MI2x1,25 12 24 24 12 48 62 4 28
C
. =T 50 M16x1,5 16 32 32 16 64 83 4 36
) T 63  MI16x1,5 16 32 32 16 64 83 4 36
1 P
) 80 M20x1,5 20 40 40 20 80 105 4 44
14 ! 100 M20x1,5 20 40 40 20 80 105 4 44
[a]
. 125 M27x2 30 55 54 30 110 148 - 65
160 M36x2 35 70 72 35 144 18 - 84
200 M36x2 35 70 72 35 144 188 - 84
A 250 M42x2 40 85 84 40 168 232 - 96
320 M48x2 50 90 96 50 192 265 - 102
I\ J
TYPEIK)  Oscillating eye in zinc-plated steel.
g ey p Bore size A B C D E F G H | L
mm
/ )
32 MI0x1,25 20 17 43 57 28 105 14 10 12,9
40 MI12x125 22 19 50 66 32 12 16 12 15,4

50 M1ex1,5 28 22 64 85 42 15 21 16 193
63 M16x1,5 28 22 64 85 42 15 21 16 193

80 M20x1,5 33 30 77 102 50 18 25 20 243

100 M20x1,5 33 30 77 102 50 18 25 20 243
125 M27x2 51 41 110 145 70 25 37 30 348
160 M36x2 56 50 125 165 80 28 43 35 37,7
200 M36x2 56 50 125 165 80 28 43 35 377
250 M42x2 60 55 142 187 90 33 49 40 452

320 M48x2 65 65 160 218 116 45 60 50 58




-
E'l
Pnoumatik

CX 32-125 CD 160-320
e N N
2 3 4
1
2
1
6
5
1 4
6
3
7
1
9 8 ;
- J
COMPONENTS LIST COMPONENTS LIST
No. of parts No. of parts
for kit for kit
NTA  Front end cap complete with seals NTA  Front end cap complete with seals
and bushing 1 and bushing 1
2)TP  Rear end cap complete with seals 1 2)TP  Rear end cap complete with seals 1
3)DC  Cushion Screws 2 3)DC  Cushion Screw 2
4)0G Cushion Boss 2 4)PT  Piston, complete with seals 1
6)Dl  Piston spacer (for integral piston) 2 5 PM  Piston, qomplete with seals and
7)PM  Magnetic piston* 1 magnetic ring !
8)GD  Piston ring nut 1 6)GD  Piston ring nut
9VT  Fixing Screws 8 7)VTT  Fixing nut for tie rods 8
1 1) DS Piston Rod Nut 1 1 ’I) DS Rod screw nut

*For bore size 125 in aluminium complete with seals.

ORDERING CODE FOR COMPONENTS

K

Cylinder type (CX-CD) Bore size

Component code





